T o e

4469 + 41 =

Round 8736 to the nearest
1000 =

5%+ 6% =
Simplifyi =

10
24 + (7 x 10) =
24 -16.9 =
0.05x10=
8—-17 =
3762 x32 =
863+  =2752

5166 +41 =

Round 20675 to the nearest
1000 =

8%+ 12% =
Simplify1—68 =

84 +(12x7) =

76 —45.08 =
0.05x 100 =

13 -37 =

7357 x 32 =
1535+  =3754

7749 = 41 =

Round 134980 to the nearest
1000 =

14% + 9% =

Simplify % =

123 +(12x 11) =
125-93.903 =
0.005 x 1000 =

18 -42 =

8863 x32 =
1553+  =4643



T o e

4469 + 41 =109

Round 8736 to the nearest

1000 = 9000

52+ 6% =61

1

2
24 + (7 x 10) = 94

24—-169=7.1
0.05x10=0.5
8—17=-9

3762 x 32 =120384
863 + 1889 = 2752

Simplify% =

5166 +41 =126

Round 20675 to the nearest

1000 = 21000

8%+ 12% =208
Simplify 1—68 = §

84 +(12x7)=168
76 —45.08 = 30.92
0.05x100=5
13-37=-24

7357 x 32 =235424

1535 +2219=3754

7749 + 41 =189

Round 134980 to the nearest
1000 = 135000

14% + 9% = 277
Simplify % = g

123 + (12 x 11) = 255
125-93.903 = 31.097
0.005 x 1000 =5

18 -42=-24

8863 x 32 = 283616

1553 + 3090 = 4643



